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10 10 01 39 [PTE SAINT MARTIN 1406 573 573 9 5 559 37 16 |0 328 [ 158 || 57
10 10 02 39 [PTE SAINT MARTIN 1683 636 636 8 5 623 51 [F 18 [ 374 [ 163 | 68
10 10 03 39 |PTE SAINT MARTIN 1494 643 643 9 5 629 42 [ 24 |39 B 165 [ 44
10 10 04 39 [PTE SAINT MARTIN 1349 498 498 8 4 486 30 |l 5 | 316 |F 103 || 62
10 10 05 39 |PTE SAINT MARTIN 1308 547 549 9 5 535 30 [ 18 [ 299 [ 172 || 46
10 10 06 39 [PTE SAINT MARTIN 1418 541 541 6 2 533 36 [ 16 | 296 |F 167 [I 54
10 10 07 39 |PTE SAINT MARTIN 1348 491 491 6 2 483 31 [F 21 | 297 [F 113 | 52
10 10 08 39 [PTE SAINT MARTIN 1565 623 624 5 3 616 31 || 28 [ 365 |F 156 I 67
10 10 09 39 [PTE SAINT MARTIN 1591 618 618 6 3 609 3a [ 41 B 287 [F 209 [ 72
10 10 10 39 [PTE SAINT MARTIN 1373 569 569 8 5 556 26 || 11 [ 357 |F 133 || 55
10 10 11 40 |HOPITAL SAINT LOUIS 1566 595 595 14 8 573 65 | 18 [ 378 |F 116 [ 61
10 10 12 40 |HOPITAL SAINT LOUIS 1533 566 566 8 2 556 33 | 13 [B406 | 92 [ 45
10 10 13 40 |HOPITAL SAINT LOUIS 1620 512 512 8 11 493 25 [ 17 [ 347 |F 94 [ 35
10 10 14 40 |HOPITAL SAINT LOUIS 1613 577 577 5 4 568 31 [ 21 [Ba12 |F 104 | 31
10 10 15 40 |HOPITAL SAINT LOUIS 1339 524 524 6 2 516 22 [ 32 | 305 [F 125 || 54
10 10 16 40 |HOPITAL SAINT LOUIS 1402 518 518 9 1 508 27 || 21 [ 316 B 134 [ 37
10 10 17 40 |HOPITAL SAINT LOUIS 1338 442 442 10 5 427 16 || 40 (B 186 |[F 169 [ 32
10 10 18 40 |HOPITAL SAINT LOUIS 1423 471 471 7 4 460 16 || 22 (B 246 |F 148 [ 44
10 10 19 40 |HOPITAL SAINT LOUIS 1204 421 421 5 5 411 8 [ 19 |F 205 [F 142 || 45
10 10 20 40 |HOPITAL SAINT LOUIS 1315 539 539 5 1 533 34 | 22 [ 309 |F 142 | 60
10 10 21 40 |HOPITAL SAINT LOUIS 1350 414 414 3 2 409 32 [F 25 | 230 [F 126 || 28
10 10 22 40 |HOPITAL SAINT LOUIS 1367 553 553 3 2 548 31 || 15 [ 347 |F 151 || 35
10 10 23 37 [SAINT VINCENT DE PAUL 1225 519 519 2 1 516 25 || 13 [ 322 B 134 [ 47
10 10 24 37 [SAINT VINCENT DE PAUL 1253 505 505 3 0 502 38 | 25 [ 291 |F 153 [ 33
10 10 25 37 [SAINT VINCENT DE PAUL 1356 578 579 7 7 565 28 || 26 | 356 B 139 [ 44
10 10 26 37 [SAINT VINCENT DE PAUL 1236 505 505 2 3 500 28 24 (B0 289 |F 149 || 38
10 10 27 37 [SAINT VINCENT DE PAUL 1513 555 555 4 4 547 37 [ 26 | 328 [ 150 [ 43
10 10 28 37 [SAINT VINCENT DE PAUL 1369 591 591 14 5 572 47 [F 20 | 298 [ 192 | 62
10 10 29 37 [SAINT VINCENT DE PAUL 1375 585 585 4 6 575 32 [F 22 | 280 (B 220 | 53
10 10 30 37 [SAINT VINCENT DE PAUL 1406 572 572 6 4 562 40 [F 27 | 289 [F 190 [ 56
10 10 31 37 [SAINT VINCENT DE PAUL 1208 476 476 7 3 466 25 [ 19 [F 216 B 172 [f 59
10 10 32 37 [SAINT VINCENT DE PAUL 1279 506 506 6 3 497 32 | 22 [ 299 |F 117 [F 59
10 10 33 38 |PORTE SAINT DENIS 1428 508 508 4 5 499 31 | 13 | 301 [F 140 || 45
10 10 34 38 |PORTE SAINT DENIS 1441 565 565 4 2 559 31 | 22 | 256 B 213 [f 68
10 10 35 38 |PORTE SAINT DENIS 1381 533 533 6 1 526 30 [ 33 | 253 (B 174 |[f 66
10 10 36 38 |PORTE SAINT DENIS 1378 617 617 6 3 608 34 | 19 |36 B 157 f 71
10 10 37 38 |PORTE SAINT DENIS 1317 496 496 9 4 483 33 [ 16 | 271 [ 141 | 55
10 10 38 38 |PORTE SAINT DENIS 1554 633 633 9 6 618 43 [ 13 | 369 [F 173 | 63
10 10 39 38 |PORTE SAINT DENIS 1623 576 576 5 2 569 37 || 19 (B339 |F 167 || 44
TOTAL 54947 | 21191 | 21195 | 255 145 | 20795 | 1259 822 | 12120 | 5863 | 1990
% 100,00% | 38,57% | 38,57% | 1,20% | 0,68% | 98,11% | 594% | 3,95% | 58,28% | 28,19% | 9,57%




